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1D igFE: HP-PONA/50m*0.2mm*0.5um B4+

2) FEif: M1 100°C, FREF 0.5min, LA 4°C/min 713 300°C, R+ 10min.
3) Kl ERE L 310°C

4) BEFEHREE: 320°C

5) HAWE (He) : 0.5mL/min
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1 ncs 7.280 0.012 5
2 nCl0 11701 0.028 5
3 nCl2  17.887 0.028 5
4 nCl4 24376 0.026 5
5 nCl6  30.456 0.023 5
6§ nCl8  35.990 0.023 5
7 nC20  41.020 0.022 5
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psunn 9547 9999 452 9556 9999 443 9551 99.99 4.47 0.09071 1.20
nC9 0.00 0.00 000 000 000 0.00 0.00 0.00 0.00 0.00012 0.01
nC10 0.00 0.00 000 000 000 0.00 0.00 0.00 0.00 0.00001 0.01
nCl11 0.00 0.00 000 000 000 0.00 0.00 0.00 0.00 0.00007 0.01
nC12 0.00 000 000 000 001 0.01 0.00 0.01 0.00 0.00003 0.01
nC13 0.01 001 000 001 001 0.00 0.01 0.01 0.00 0.00015 0.01
nCl14 2398 24.01 0.03 2395 2398 0.03 2397 24.00 0.03 0.03154 0.27
nC15  21.61 2296 135 21.63 2272 1.08 21.62 2284 121 0.02334 0.25
nC16 1796 1885 0.89 1799 1899 1.00 1797 1892 0.95 0.03105 0.22
nC17 1393 1477 0.84 1393 1478 0.85 1393 14.78 0.85 0.00599 0.19
nC18 9.69 1034 0.65 9.73 1038 0.65 9.71 1036 0.65 0.03379 0.14
nC19 555 6.00 045 557 6.02 045 556 601 045 0.01997 0.10
nC20 215 238 023 215 240 025 215 239 024 0.00673 0.05
nC21 0.50 057 007 050 059 0.09 050 058 0.08 0.00161 0.02
nC22 0.08 009 001 008 0.09 0.01 0.08 0.09 0.01 0.00014 0.01
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